[image: image1.png]In Exercises 5-8, the linear systems are the same as those in Exercises 1-4. For each
system,

(a) find the general solution;
(b) find the particular solution for the initial condition Yo = (1, 0); and

(c) sketch the x(r)- and y(t)-graphs of the solution. (Compare these sketches with the
sketches you obtained in the corresponding problem from Exercises 1-4.)
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Please solve for only #8. You do not need to do comparison with previous exercise problems in part (c), but I will appreciate if you provide a graph only for this problem.

Thank you.

